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QUESTION 1

You have two tables named Salesperson and Sales. 

You need to ensure that each record in the Sales table has a valid associated salesperson record in the Salesperson
table. 

Which database object should you add to the Sales table? 

A. Nonclustered index 

B. Primary key 

C. Foreign key 

D. Clustered index 

Correct Answer: B 

 

QUESTION 2

You have a database table named SongInformation as defined below: 

You need to create a Structured Query Language (SQL) query to retrieve only the names of songs that sold more than
1000 compact discs (CDs). Which query should you use? 

A. Option A 

B. Option B 
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C. Option C 

D. Option D 

Correct Answer: A 

 

QUESTION 3

This question requires that you evaluate the underlined text to determine if it is correct. 

The JOIN keyword combines the results of two queries and returns only rows that appear in both result sets. 

Instructions: Review the underlined text. If it makes the statement correct, select "No change is needed." If the
statement is incorrect, select the answer choice that makes the statement correct 

A. No change is needed 

B. INTERSECT 

C. ALL 

D. UNION 

Correct Answer: B 

INTERSECT returns rows that are common to both queries 

 

QUESTION 4

You have a table that contains the following data. 

Which database term is used to describe the relationship between ProductID and ProductCategory? 

A. Cohort 

B. Relationally dependent 

C. Deterministic 

D. Functionally dependent 

E. Compositional 
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Correct Answer: D 

 

QUESTION 5

This question requires that you evaluate the underlined text to determine if it is correct. 

Truncate is a database term used to describe the process of applying a backup to a damaged or corrupt database. 

Instructions: Review the underlined text. If it makes the statement correct, select "No change is needed." If the
statement is incorrect, select the answer choice that makes the statement corrector. 

A. Change is needed 

B. Commit 

C. Attach 

D. Restore 

Correct Answer: D 
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